Notices

Federal Register

Vol. 85, No. 93

Wednesday, May 13, 2020

This section of the FEDERAL REGISTER contains documents other than rules or proposed rules that are applicable to the public. Notices of hearings and investigations, committee meetings, agency decisions and rulings, delegations of authority, filing of petitions and applications and agency statements of organization and functions are examples of documents appearing in this section.

DEPARTMENT OF AGRICULTURE

Food and Nutrition Service

Agency Information Collection Activities: Proposed Collection; Comment Request—School Food Purchase Study IV

AGENCY: Food and Nutrition Service (FNS), USDA.

ACTION: Notice of information collection; request for comment.

SUMMARY: In accordance with the Paperwork Reduction Act of 1995, this notice invites the general public and other public agencies to comment on this proposed information collection. This collection is a request for reinstatement with changes of a previously approved information collection under OMB Control Number 0584–0471, which expired on March 21, 2012. This is the fourth in a series of studies designed to provide statistically valid national estimates of food acquisitions (both purchased foods and USDA Foods) made by school food authorities (SFAs) participating in the Federally supported school nutrition programs.

DATES: Written comments must be received on or before July 13, 2020.

ADDRESSES: Comments may be sent to: Jinee Burdg, MPP, RDN, LDN, Food and Nutrition Service, U.S. Department of Agriculture, 1320 Braddock Place, Alexandria, VA 22314. Comments may also be submitted via fax to the attention of Jinee Burdg at 703–305–2576 or via email to Jinee.Burdg@usda.gov. Comments will also be accepted through the Federal eRulemaking Portal. Go to http://www.regulations.gov, and follow the online instructions for submitting comments electronically.

All written comments will be open for public inspection at the office of the Food and Nutrition Service during regular business hours (8:30 a.m. to 5 p.m. Monday through Friday) at 1320 Braddock Place, Alexandria, VA 22314.

All responses to this notice will be summarized and included in the request for Office of Management and Budget approval. All comments will be a matter of public record.

FOR FURTHER INFORMATION CONTACT:

Requests for additional information or copies of this information collection should be directed to Jinee Burdg at 703–305–2744.

SUPPLEMENTARY INFORMATION:

Comments are invited on: (a) Whether the proposed collection of information is necessary for the proper performance of the functions of the agency, including whether the information shall have practical utility; (b) the accuracy of the agency's estimate of the burden of the proposed collection of information, including the validity of the methodology and assumptions that were used; (c) ways to enhance the quality, utility, and clarity of the information to be collected; and (d) ways to minimize the burden of the collection of information on those who are to respond, including use of appropriate automated, electronic, mechanical, or other technological collection techniques or other forms of information technology.

Title: School Food Purchase Study IV. Form Number: None. OMB Number: 0584–0471 Expiration Date: 3/21/2012

Type of Request: Reinstatement with changes of a previously approved OMB package.

Abstract: This study is the fourth in a series of studies designed to provide statistically valid national estimates of food acquisitions (both purchased foods and USDA Foods) made by school food authorities (SFAs) participating in the Federally supported National School Lunch Program (NSLP) and School Breakfast Program (SBP). In the decade following the release of the third School Food Purchase Study (SFPS III) report, the school nutrition environment has undergone considerable changes. Key among them are the provisions of the Healthy, Hunger-Free Kids Act of 2010 (Pub. L. 111-296) which required updated nutrition standards for the NSLP and SBP. These standards require meals to include greater quantities of fruits and vegetables, whole grains, and low-fat dairy and reduced sodium. These changes have affected the

purchasing practices of SFAs in terms of the types, volume, and cost of foods. This study is restricted to public SFAs to allow for direct comparisons of the results (*i.e.*, changes in the mix of acquired foods) to the prior study, SFPS III, which was conducted in SY 2009–2010. In addition, the study will describe food purchase practices of SFAs so that information associated with food purchasing efficiency can be provided to all SFAs.

The study will include a nationally representative sample of 630 public SFAs. At the onset of the study, Statelevel Child Nutrition Directors will email sampled SFAs of their selection in to the study and encourage their participation. All sampled SFAs will be invited to attend a study overview webinar that will provide details of the study and highlight the upcoming data collection activities. Following the webinar, SFAs will complete an online Survey of Food Purchase Practices, which will be pretested with four SFA Directors. For collection of food purchase data, SFAs will be assigned to one of four quarters of the school year, and invited to attend a food purchase data webinar held at the beginning of that quarter. SFAs will then submit detailed food purchase data (vendor summaries, invoices, etc.) for all food acquisitions made during their assigned quarter. This ensures that data are collected from SFAs across the entire school year and minimizes the burden on individual SFAs. It also allows for the examination of relationships between food purchasing practices and annual costs of foods to schools.

To supplement the food purchase data provided by SFAs, State Distributing Agency Directors will provide USDA Foods procurement data for their sampled SFAs for each quarter. In addition, up to 25 of the top (most frequent) food service management companies (FSMCs) and food vendors serving sampled SFAs will be provided study background information so they are aware of the study and its purpose.

Though the data collected from SFAs in SFPS IV are almost exactly the same as in the prior study, technological advances and a change in approach to the timing of the data collection activities account for differences in the burden estimate from the prior study. In SFPS III, sampled SFAs completed a paper-based survey of food purchase

practices and provided detailed food purchase data, all after the end of the quarter of the school year for which they were sampled. In this study, SFPS IV, the survey is web-based and will be completed by all SFAs at the beginning of the study, following OMB approval. SFAs will separately provide purchase data for their sampled quarter. In addition, to reduce SFA burden and help ensure the completeness of the data, all State Distributing Agencies will provide data on USDA Foods for the sampled SFAs in each quarter. Expanding the respondent groups from SFAs alone to including all SDAs, and collecting data from SDAs on a quarterly basis has increased the number of responses from those reported for the SFPS III study. Despite the increase in responses, however, the burden hours for the SFPS IV have decreased, because the activities for this study are estimated to take from 1 minute to 5.25 hours to complete, as opposed to the SFPS III where the activities were estimated to take from 30 minutes to 10 hours to complete.

Affected Public: State, Local and Tribal Government and Business or Other-for-Profit. The respondents include Child Nutrition and State Distributing Agency Directors (State Government), SFA Directors (Local Government), and FSMCs and food vendors (For Profit Businesses).

Estimated Number of Respondents: The universe of participants is 757, and 551 will respond to data collection activities and 206 will be nonrespondents. This includes four SFA Directors for cognitive testing of the study instruments. In the main study, up to 49 Directors from State Child Nutrition Agencies and 49 Directors from State Distributing Agencies will respond to the data collection activity. Six hundred and thirty (630) SFA Directors within the contiguous United States will be invited to participate in the study; 504 will complete the Survey of Food Purchase Practices; and 424 will provide food purchase data. Twenty five (25) FSMCs/food vendors will be informed of the study via email and all will read the informational email and study brochure.

Estimated Frequency of Response: Respondents will complete each data collection activity once. The estimate of frequency of responses across the entire collection is 14.0 (10,582/757): 18.3 (10,060/551) for respondents and 2.5 (522/206) for nonrespondents. State Child Nutrition Directors will respond twice; State Distributing Agencies will respond up to five times; FSMCs/ vendors will respond twice to read the background material and study brochure; and SFA Directors will respond five times annually (to read the study brochure, to attend two webinars, complete the Survey of Food Purchase Practices, and provide detailed food purchase data for one quarter). The SFAs are assigned to one of the four quarters and will only report data for the one quarter. The expected response and non-response for these four quarters have been combined into one line item in the burden chart, instead of being broken down into the four quarters.

Estimated Total Annual Responses: 10,582. This includes 10,060 for respondents and 522 for non-respondents.

Estimated Time per Response per Respondent: The estimated time of response varies from 1 minute to 5.25 hours, depending on the activity. The estimated time per response across the entire collection is 0.46 hours (4,844 hours/10,582 responses). We will cognitively test the survey with four SFA directors. The cognitive test of the survey will take 2 hours; this includes time to schedule and conduct the interview.

Estimated Total Annual Burden on Respondents: The total annual public reporting burden (see burden table below) for this collection of information is estimated at 4,844 hours; 4,835 for respondents and 9 for nonrespondents.

| | | | | | Respondents | 2 | Ì | | N | Nonrespondents | z | | |
|------------------------------|---|----------------|---------------------------------------|----------------------------|---------------------------|--|---|----------------------------------|----------------------------|---------------------|---------------------------------|---|--|
| Resmodent Resmondent | | | Tetimotod | Frequency | | | Sub-Total | Estimated | Frequency | Total | | Sub-Total | Total |
| | Iype of Survey Instrument | Sample Size | Estimated Number of Respondents | of Response (Annual) | Total Annual Responses | Awrage Burden Hours per Response | Annual Burden Estimate (hours) | Number of Non- respondents | of Response (Annual) | Annual Responses | Burden Hours per Response | Burden Burnen Estimate (hours) | Burden Burnate Estimate (hours) |
| | FNS Notification to State Directors | 49 | 49 | 1 | 49 | 0.0501 | 2.45 | 0 | - | 0 | 0.0167 | 0 | 2.45 |
| State Child | d Study Team Notification to States | 49 | 49 | 1 | 49 | 0.0835 | 4.09 | 0 | 1 | 0 | 0.0167 | 0 | 4.09 |
| Agency | Study Brochure (from FNS and Study) | 49 | 49 | 2 | 86 | 1050:0 | 4.91 | 0 | 2 | 0 | 0.0167 | 0 | 4.91 |
| Director (a) | a) State Email to Sampled SFAs (template) (1) | 49 | 49 | 1 | 49 | 1050'0 | 2.45 | 0 | 1 | 0 | 0.0167 | 0 | 2.45 |
| | Eatch Email from States to Sampled SFAs (using template) | 49 | 49 | 1 | 65 | 0.3340 | 16.37 | 0 | 1 | 0 | 0.0167 | 0 | 16.37 |
| Government | FNS Notification to State Directors | 94 | 49 | 1 | 64 | 1050.0 | 2.45 | 0 | 1 | 0 | 0.0167 | 0 | 2.45 |
| State | Study Team Notification to States | 49 | 49 | 1 | 49 | 0.0835 | 4.09 | 0 | 1 | 0 | 0.0167 | 0 | 4.09 |
| Distributing | g Study Brochure (from FNS and Study) | 49 | 49 | 2 | 86 | 0.0501 | 4.91 | 0 | 2 | 0 | 0.0167 | 0 | 4.91 |
| Agency | Overview of USDA Foods Data | 49 | 49 | 4 | 961 | 0.0501 | 9.82 | 0 | 4 | 0 | 0.0167 | 0 | 9.82 |
| Director (a) | a) Request to Submit USDA Foods Data (2) | 49 | 49 | 4 | 196 | 0.0501 | 9.82 | 0 | 4 | 0 | 0.0167 | 0 | 9.82 |
| | USDA Foods Data | 49 | 49 | 4 | 196 | 1.0000 | 196.00 | 0 | 4 | 0 | 0.0167 | 0 | 196.00 |
| SUBTOTAL OF STATE GOVERNMENT | OVERNMENT | 98 | 98 | 11 | 1,078 | 0.2388 | 257.37 | 0 | 0 | 0 | 0.0000 | | 257.37 |
| | Pre-test of Instruments | 4 | 4 | 1 | 4 | 2.0000 | 8:00 | 0 | - | 0 | 0.0167 | 00'00 | 8:00 |
| | State Email to Sampled SPAs | 630 | 630 | 1 | 0630 | 0.0501 | 31.56 | 0 | _ | 0 | 0.0167 | 000 | 31.56 |
| | FedExletter to Sampled SFAs | 630 | 630 | _ | 090 | 0.0501 | 31.56 | 0 | _ | 0 | 0.0167 | 00:00 | 31.56 |
| | Study Brochure (from FNS and Study) | 630 | 630 | 2 | 1,260 | 0.0501 | 63.13 | 0 | 2 | 0 | 0.0167 | 0.00 | 63.13 |
| | Study FAQs (enclosed in FedEx) | 630 | | 1 | 630 | 0.0501 | 31.56 | 0 | 1 | 0 | 0.0167 | 00:00 | 31.56 |
| | Letters of Support (enclosed in FedEx) | 630 | 630 | 1 | 630 | 0.0501 | 31.56 | 0 | 1 | 0 | 0.0167 | 00.00 | 31.56 |
| <i>V</i> 1 | od Overview Webinar Invitation Email | 089 | 030 | 1 | 069 | 1050:0 | 31.56 | 0 | 1 | 0 | 0.0167 | 00'0 | 31.56 |
| Covernment (SEA) Director | Overview Webinar (4) | 630 | | 1 | 535 | 1.0000 | 535.00 | 95 | 1 | 95 | 0.0167 | 1.59 | 536.59 |
| | Email with Link to Survey of Food Purchase Practices (SFPP) | 630 | 630 | I | 089 | 1050'0 | 31.56 | 0 | 1 | 0 | 0.0167 | 00:00 | 31.56 |
| 2 | Survey of Food Purchase Practices (3) | 630 | 504 | 1 | 504 | 1.7500 | 882.00 | 126 | 1 | 126 | 0.0167 | 2.10 | 884.10 |
| | Purchase Data Webinar Invitation | 630 | | 1 | 030 | 0.0501 | 31.56 | 0 | _ | 0 | 0.0167 | 00:00 | 31.56 |
| | Purchase Data Webinar (4) | 630 | 535 | 1 | 535 | 1.0000 | 535.00 | 95 | - | 95 | 0.0167 | 1.59 | 536.59 |
| | Ismail to Submit Purchase Data | 630 | 630 | 1 | 630 | 0.0835 | 52.61 | 0 | 1 | 0 | 0.0167 | 0.00 | 52.61 |
| | Food Purchase Data Template | 630 | 630 | 1 | 630 | 0.0835 | 52.61 | 0 | 1 | 0 | 0.0167 | 0.00 | 52.61 |
| | Purchase Data (5) | 089 | 424 | l | 424 | 9.2500 | 2226.00 | 2006 | 1 | 306 | 1910'0 | 3.44 | 2,229.44 |
| SUBTOTAL OF LOCAL GOVERNMENT | GOVERNMENT | 634 | 428 | 20.87 | 8,932.0 | 0.5122 | 4575.28 | 206 | 2.53 | 273 | 0.0167 | 8.72 | 4,583.99 |
| SUBTOTAL OF STATEA | SUBTOTAL OF STATE AND LOCAL GOVERNMENT | 732 | 526 | 31.87 | 10,010.0 | 0.75098 | 4832.65 | 206 | 2.53 | 522 | 0.0167 | 8.72 | 4,841 |
| For-Profit Management | ice TNS Notification to Vendors | 25 | 25 | | 25 | 0.0501 | 1.25 | 0 | | 0 | 0.0501 | 0 | 1.25 |
| Business Companies | SS Study Brochure | 22 | 25 | 1 | 52 | 0:0501 | 1.25 | 0 | 1 | 0 | 0.0501 | 0 | 1.25 |
| SUBTOTAL FOR PROFIT BUSINESS | T BUSINESS | 25 | , , | 2 | 99 | 0.0501 | 2.51 | 0 | 0 | 0 | 0.0000 | 0 | 2.51 |
| GRAND TOTAL | | 757 | 551 | 18.26 | 10,060 | 0.4806 | 4835.15 | 206 | 2.53 | 522 | 0.0167 | 8.72 | 4,843.87 |

Pamilyn Miller,

Administrator, Food and Nutrition Service. [FR Doc. 2020–10206 Filed 5–12–20; 8:45 am] BILLING CODE 3410–30–P

DEPARTMENT OF AGRICULTURE

Food and Nutrition Service

Agency Information Collection Activities: School Meals Operations Study: Evaluation of the School-Based Child Nutrition Programs

AGENCY: Food and Nutrition Service (FNS), USDA.

ACTION: Notice.

SUMMARY: In accordance with the Paperwork Reduction Act of 1995, this notice invites the general public and other public agencies to comment on this proposed information collection. This collection is a revision of a currently approved collection for the School Meals Operations (SMO) Study's continuation of the Child Nutrition Program Operations Study II (CN-OPS II, OMB control number 0584-0607) information collection with updated survey instruments beginning in school year (SY) 2020-2021. This study will collect supplemental administrative data, including data on the CN COVID-19 waivers.

DATES: Written comments must be received on or before July 13, 2020.

ADDRESSES: Comments may be sent to: Holly Figueroa, Food and Nutrition Service, U.S. Department of Agriculture, 1320 Braddock Pl, 5th Floor,
Alexandria, VA 22314. Comments may also be submitted via fax to the attention of Holly Figueroa at 703–305–2576 or via email to Holly.Figueroa@usda.gov.
Comments will also be accepted through the Federal eRulemaking Portal. Go to http://www.regulations.gov, and follow the online instructions for submitting comments electronically.

All responses to this notice will be summarized and included in the request for Office of Management and Budget approval. All comments will be a matter of public record.

FOR FURTHER INFORMATION CONTACT:

Requests for additional information or copies of this information collection should be directed to Holly Figueroa at 703–305–2105.

SUPPLEMENTARY INFORMATION: Comments are invited on: (a) Whether the proposed collection of information is necessary for the proper performance of the functions of the agency, including whether the information shall have practical utility; (b) the accuracy of the agency's estimate of the burden of the

proposed collection of information, including the validity of the methodology and assumptions that were used; (c) ways to enhance the quality, utility, and clarity of the information to be collected; and (d) ways to minimize the burden of the collection of information on those who are to respond, including use of appropriate automated, electronic, mechanical, or other technological collection techniques or other forms of information technology.

Title: School Meals Operations Study: Evaluation of the School-based Child Nutrition Programs.

Form Number: N/A.

OMB Number: 0584–0607.

Expiration Date: 08/31/2022.

Type of Request: Revision of a currently approved collection.

Abstract: FNS administers the schoolbased Child Nutrition (CN) Programs (i.e., the school meal programs) in partnership with States and local school food authorities (SFAs). Section 28(a) of the Richard B. Russell National School Lunch Act authorizes the U.S. Department of Agriculture Secretary to conduct annual national performance assessments of the school meal programs. FNS plans to conduct this annual assessment through the School Meals Operations (SMO) Study for school year (SY) 2020-2021. The SMO Study will also collect timely data from State agencies on the use and effectiveness of the CN COVID-19 waivers, as required by the Families First Coronavirus Response Act (PL 116-127).

The SMO Study is a revision of the currently approved Child Nutrition Program Operations Study II (CN–OPS II). It will collect timely data on policy, administrative, and operational issues on the school-based CN Programs, including, but not limited to, the preparation of the program budget, development and implementation of program policy and regulations, and identification of areas for technical assistance and training. Specifically, this study will help FNS obtain:

1. General descriptive data on the characteristics of school-based CN Programs to inform the budget process and answer questions about topics of current policy interest;

2. Data on program operations to identify potential topics for training and technical assistance for SFAs and State Agencies (SAs) responsible for administering the CN programs;

3. Administrative data to identify program trends and predictors;

4. Information on the use and effectiveness of the CN COVID-19 waivers.

The activities to be conducted subject to this notice include:

- Collecting administrative data from 69 State Agency Directors that are reported on forms FNS-10, Report of School Program Operations, FNS-418, Report of the Summer Food Service Program for Children, and FNS-44, Report of the Child and Adult Care Food Program (which are approved under OMB# 0584-0594 Food Programs Reporting System (FPRS), which is currently under review at OMB).
- Conducting a web survey of 69 State Agency Directors.
- Conducting a web survey of 1,266 SFA Directors.

Note: Personally identifiable information (PII) will not be used to retrieve survey records or data.

Affected Public: State, Local, and Tribal Governments: Respondent groups identified include: (1) SFA Directors for public schools, and (2) State Agency Directors from all 50 States, 5 territories and the District of Columbia.

Estimated Number of Respondents: The total estimated number of respondents is 1,341. This includes (1) 69 State Agency Directors who are expected to participate in the administrative data collection and the State Agency Director survey (3 of the 69 State Agency Directors are also expected to participate in the pretest), and (2) 1,272 SFA Directors. Six SFA Directors are expected to participate in the pre-test of the SFA Director web survey; these pretest participants are unique respondents and will not be included in the sample for the SFA survey. An additional 1,266 public SFA Directors will be included in the sample for the SFA Director web survey, of which 1,012 are expected to respond. The total number of respondents also includes 254 non-respondents whom FNS expects will not respond to the study activities.

Estimated Number of Responses per Respondent: State Agency Director respondents will be asked to complete an initial telephone meeting and respond to an administrative data request one time. SFA Director and State Agency Director respondents will be asked to complete their respective web surveys one time. In the event of non-response, State Agency Directors may receive a reminder email, phone call, and a last chance postcard until the target of 69 respondents is reached. Similarly, SFA Directors who do not respond may receive reminders via email, phone, or post card until the target number of 1,012 respondents is reached. FNS estimates that respondents will average 5.47 responses (5,946 responses/1,087 respondents) across the